Moltiplicare per potenze di dieci ( numero mancante

)

Nome: Data: Punteggio:
2,526 % = 2526 2,482 x = 2482
10, 675 X = 106.75 10, 789 X =1078.9
7,643 x = 7643 6, 979 x =69.79
8,564 x = 8564 1,065 x = 1065
1,261 x = 126.1 7,744 x =774.4
8,241 x = 8241 10, 778 % = 1077.8
2,975 % =297.5 4,817 x =481.7
10, 954 x = 109.54 6, 1 X = 61
3,057 % = 30.57 6, 594 x = 65.94
10, 968 =1096.8 4,126 x =41.26
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Moltiplicare per potenze di dieci ( numero mancante

)

Nome:

2,526 x 1000 = 2526

10,675 x 10 = 106.75

7,643 x 1000 = 7643

8,564 x 1000 = 8564

1,261 x 100 = 126.1

8,241 x 10 = 82.41

2,975 %100 = 297.5

10,954 x 10 = 109.54

3,057 x 10 = 30.57

10,968 x 100 = 1096.8

Data: Punteggio:

2,482 x 1000 = 2482

10,789 x 100 = 1078.9

6,979 x 10 = 69.79

1, 065 x 1000 = 1065

7,744 x 100 = 774.4

10,778 x 100 = 1077.8

4,817 x 100 = 481.7

6,1x10==61

6,594 x 10 = 65.94

4,126 x 10 =41.26
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